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CONIC SECTIONS

1. Given that A(1, 1) and B(2, — 3) are two points and D is a point on

AB produced such that AD = 3AB: Find the coordinates of D-

o Watch Video Solution

2. Find the coordinates of the point which divides the line segments
joining the points (6, 3) and ( — 4, 5) in the ratio 3: 2 (i) internally and

(ii) externally.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vtwENuZcZ4ci
https://dl.doubtnut.com/l/_XI458Wcs6060

l o Watch Video Solution

3. Four points A(6, 3), B( — 3,5), C(4, — 2) and D(z, 2z) are given in

o that (AreaofDBC) 1 i
such a way tha (AreaofABC) = 5 findx

O Watch Video Solution

4. If the points (1,1): (O, sec? 0); and (cos ec?0, O) are collinear, then

find the value of 0

o Watch Video Solution

5.Given that A, A,, A3, A,, are n points in a plane whose coordinates
are 1,Y1), (2, ¥s), (Tn, Yn), respectively. A; A, is bisected at the
point Py, P; A3 is divided in the ratio A: 2 at P,, P, A, is divided in the
ratio 1:3 at P;, P3Aj5 is divided in the ratio 1: 4 at P, , and so on until all

n points are exhausted. Find the final point so obtained.



https://dl.doubtnut.com/l/_XI458Wcs6060
https://dl.doubtnut.com/l/_SgQCep3b7AcP
https://dl.doubtnut.com/l/_o2mWdp6VZCaC
https://dl.doubtnut.com/l/_L7OVxzrWGdoa

| o Watch Video Solution

6. If P divides OA internally in the ratio A;: Ay and @ divides OA
externally in the ratio A;; A2, then prove that OA is the harmonic mean

of OP and OQ-

o Watch Video Solution

7. Prove that the point ( —2, —1),(1,0), (4,3)and(1,2) are the

vertices of parallelogram. Is it a rectangle?

o Watch Video Solution

8. Determine the ratio in which the line 3z 4y — 9 = 0 divides the

segment joining the points (1,3) and (2, 7)-

o Watch Video Solution



https://dl.doubtnut.com/l/_L7OVxzrWGdoa
https://dl.doubtnut.com/l/_6JEWiHjTZlMA
https://dl.doubtnut.com/l/_udoz6Y3Kf6tc
https://dl.doubtnut.com/l/_z5Q4B1EWhuyn
https://dl.doubtnut.com/l/_AEGCCNpxze58

9.Find the orthocentre of the triangle whose vertices are (0, 0), (3, 0),

and (0, 4).

° Watch Video Solution

10.If a vertex of a triangle is (1, 1) , and the middle points of two sides
passing through it are —2, 3) and (5, 2), then find the centroid of the

triangle.

o Watch Video Solution

11. The vertices of a triangle are A( — 1, — 7), B(5, 1)andC(1, 4). If the
internal angle bisector of /B meets the side AC in D, then find the

length AD.

o Watch Video Solution



https://dl.doubtnut.com/l/_AEGCCNpxze58
https://dl.doubtnut.com/l/_WdQekcb5QvE6
https://dl.doubtnut.com/l/_7GzYzKdVyKNI

12. If ABC having vertices
A(acos 01, asin6,), B(acos yasin ), andC(acos 03, asin 03) is
equilateral, then prove that

cos 0; + cos 0y + cos 03 = sinf; + sinfy + sinf; = 0.

° Watch Video Solution

13. If the point (z, —1),(3,¥),( —2,3),and( — 3, —2) taken in

order are the vertices of a parallelogram, then find the values of xandy-

o Watch Video Solution

14. If the midpoints of the sides of a triangle are

(2,1),(—1, — 3),and(4, 5), then find the coordinates of its vertices.

o Watch Video Solution



https://dl.doubtnut.com/l/_qbLOIQ68KbLB
https://dl.doubtnut.com/l/_nfKTSEth5Lek
https://dl.doubtnut.com/l/_8iGMlB8mHfDd

15. If the circumcenter of an acute-angled triangle lies at the origin and
the centroid is the middle point of the line joining the points

(a2 +1,a® + 1) and (2a, — 2a), then find the orthocentre.

° Watch Video Solution

16. If a vertex, the circumcenter, and the centroid of a triangle are (0, 0),
(3,4), and (6, 8), respectively, then the triangle must be (a) a right-
angled triangle (b) an equilateral triangle (c) an isosceles triangle (d)

a right-angled isosceles triangle

o Watch Video Solution

17. Orthocenter and circumcenter of a AABC are (a,b)and(c, d) ,
respectively. If the coordinates of the vertex A are (z1,y;), then find

the coordinates of the middle point of BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_bWYeQkyuAcVv
https://dl.doubtnut.com/l/_FAyYpEYhI6jv
https://dl.doubtnut.com/l/_WEiaEori4ovE

18. If A(x1,y1), B(x2,ys) and C(x3,y3) are the vertices of traingle
ABC and x% + y12 = :c% + yg = :1::2,) + yg, then  show that

x18in2A + x5sin2B + x38in2C = y; sin2A + y,sin2B + y3sin2C = (

° Watch Video Solution

kc+la kd+ b
E+1 " Ek+1

19. The points (a, b), (¢, d), and ( > are (a) vertices
of an equilateral triangle (b) vertices of an isosceles triangle (c) vertices

of aright-angled triangle (d) collinear

° Watch Video Solution

20.The circumcenter of the triangle formed by the line y = z, y = 2z,

andy =3z +4is

A.(a) (6, 8)


https://dl.doubtnut.com/l/_WEiaEori4ovE
https://dl.doubtnut.com/l/_QwHvzb4OrvIr
https://dl.doubtnut.com/l/_MPd7b5N9uXiM
https://dl.doubtnut.com/l/_OxqbAIkFOJnV

B. (b) (6, — 8)
C.(c) (3, 4)

D.(d) (— 3, —4)

Answer: null

o Watch Video Solution

21. The line joining A (bcos o, bsina) and B (acos 3, asinf), where

a # b, is produced to the point M(xy) so that AM :MB = b :a Then

a+p a+p

T COoS + ysin

o Watch Video Solution

22. If the middle points of the sides of a triangle are

(—2,3), (4, — 3),and(4, 5) , then find the centroid of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_OxqbAIkFOJnV
https://dl.doubtnut.com/l/_4m1lRj9BZo1s
https://dl.doubtnut.com/l/_MaFZ1h9GsfUm

23.In what ratio does x-axis divide the line segment joining (2, -3) and (5,

6)

° Watch Video Solution

24.1f (1, 4) is the centroid of a triangle and the coordinates of its any

two vertices are (4, — 8) and ( — 9, 7), find the area of the triangle.

° Watch Video Solution

25.1f (x4, i), © = 1,2, 3, are the vertices of an equilateral triangle such
that

(1 +2)°+ (11 —3)° = (z2+2)° + (3 — 3)> = (z3 + 2)* + (y3 — 3)°,
1+ To + T3

then find the value of .
Y1+ Y2 + Y3

o Watch Video Solution



https://dl.doubtnut.com/l/_yltoa2GDvo6n
https://dl.doubtnut.com/l/_GXBMbkjsXuXb
https://dl.doubtnut.com/l/_KXpC69knCU1f

26. A particle just clears a wall of height b at distance a and strikes the

ground at a distance c from the point of projection. The angle of

tan~!(bc) tan ! (bc)
(2) 45° (3) (4)
a(c — a) a

tan~1b

projection is (1)

o Watch Video Solution

27. Find the locus of a point, so that the join of ( —5,1) and (3, 2)

subtends a right angle at the moving point.

° Watch Video Solution

28.The sum of the squares of the distances of a moving point from two
fixed points (a,0) and ( — a, 0) is equal to a constant quantity 2¢%. Find

the equation to its locus.

o Watch Video Solution



https://dl.doubtnut.com/l/_KF7Nla3D0TlI
https://dl.doubtnut.com/l/_0FQ59I23Dmoc
https://dl.doubtnut.com/l/_y2gwt3QMqv1E

29. AB is a variable line sliding between the coordinate axes in such a
way that A lies on the x-axis and B lies on the y-axis. If P is a variable
point on AB such that PA =b,Pb =a ,and AB = a + b, find the

equation of the locus of P.

° Watch Video Solution

30. Arod of length [ slides with its ends on two perpendicular lines. Find

the locus of its midpoint.

o Watch Video Solution

31. Find the locus of the point (t2 —t+ 1,2 +t+ 1), t € R.

o Watch Video Solution



https://dl.doubtnut.com/l/_rxU4GXbInRuq
https://dl.doubtnut.com/l/_NdTRYPfa5Yup
https://dl.doubtnut.com/l/_LJQEsLmrIrGQ

32.Find the locus of a point such that the sum of its distance from the

points (2,2) and (2, — 2) is 6.

° Watch Video Solution

33. Two points P(a,0) and Q(-a,0) are given. R is a variable point on one
side of the line PQ such that ZRPQ — ZRQP is a positive constant

2a. Find the locus of the point R.

° Watch Video Solution

34. If the coordinates of a variable point P are (a cos 6, bsin6), where 6

is a variable quantity, then find the locus of P.

o Watch Video Solution



https://dl.doubtnut.com/l/_BpmoMIdbTpkr
https://dl.doubtnut.com/l/_H41ipgFHMe9h
https://dl.doubtnut.com/l/_j9CA8c8hhx0f

35. Find the locus of a point whose distance from (a, 0) is equal to its

distance from the y-axis.

° Watch Video Solution

36. The coordinates of the point A and B are (a,0) and ( — a,0),
respectively. If a point P moves so that PA*> — PB? = 2k* when k is

constant, then find the equation to the locus of the point P-

° Watch Video Solution

37. The locus of the foot of perpendicular drawn from origin to a
variable line passing through fixed points (2,3) is a circle whose diameter

is?

o Watch Video Solution



https://dl.doubtnut.com/l/_pMhACb1StWHQ
https://dl.doubtnut.com/l/_xIfqC4IYWE4h
https://dl.doubtnut.com/l/_ByxF9K266AGv

38. A variable line through the point P(2, 1) meets the axesataandb.

Find the locus of the centroid of triangle O A B (where O is the origin).

° Watch Video Solution

39. If A(cosa,sina), B(sina, — cosa), C(1,2) are the vertices of

ABC, then as « varies, find the locus of its centroid.

° Watch Video Solution

40. Let A(2, — 3) and B( — 2,1) be the vertices of AABC. If the
centroid of the triangle moves on the line 2z + 3y = 1, then find the

locus of the vertex C.

o Watch Video Solution



https://dl.doubtnut.com/l/_e6qUWdTjaDdh
https://dl.doubtnut.com/l/_3mOWTs3QR9Ho
https://dl.doubtnut.com/l/_CCd83LgLdfCe

41. Convert the following polar coordinates to its equivalent Cartesian

coordinates. (i) (2, )

° Watch Video Solution

42. Convert the following Cartesian coordinates to the corresponding
polar coordinates using positive r and negative r. (i)
(32) (322) ((3v) (v) — 1, 1(wi))(vit) (viii) (ii)
(iz)(x)((x2)(&)2, — 3(xiii))(xiv) (xv)

° Watch Video Solution

43. A straight line is drawn through P(3, 4) to meet the axis of x and y
at AandB , respectively. If the rectangle OACB is completed, then find

the locus of C.

o Watch Video Solution



https://dl.doubtnut.com/l/_EuFYMbN2ZxAD
https://dl.doubtnut.com/l/_dLHnBOWc8Fgo
https://dl.doubtnut.com/l/_HqDNq6EUxZkB
https://dl.doubtnut.com/l/_7i8hMSKje1hL

44. A variable line through the point P(2, 1) meets the axes ataandb.

Find the locus of the centroid of triangle O A B (where O is the origin).

° Watch Video Solution

45. A point moves such that the area of the triangle formed by it with
the points (1, 5) and (3, — 7)is21squnits- Then, find the locus of the

point.

o Watch Video Solution

46. Find the locus of the point of intersection of lines

zcosa + ysina = aand zsina — ycos a = b(« is a variable).

o Watch Video Solution



https://dl.doubtnut.com/l/_7i8hMSKje1hL
https://dl.doubtnut.com/l/_0B15rAibXEFp
https://dl.doubtnut.com/l/_SM8L5UYfj49I

47. Find the locus of the middle point of the portion of the line
x cos a + ysina = p which is intercepted between the axes, given that

p remains constant.

° Watch Video Solution

48. () is a variable point whose locus is 2x + 3y +4 = 0;
corresponding to a particular position of @), P is the point of section of

0Q, O being the origin, such that OP: PQ) = 3:1. Find the locus of P.

o Watch Video Solution

49, Convert y = 10 into a polar equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_IePVLTwhHz5p
https://dl.doubtnut.com/l/_ck4b6kF700jm
https://dl.doubtnut.com/l/_jpH79NeECV3U

50. Convert the following Cartesian coordinates to the corresponding
polar coordinates using positive r and negative r. (i)
(32) (342) ((3v) (v) — 1, 1(wvi))(vii) (viii) (ii)
(iz)(x)((x2)(&)2, — 3(xiii))(xiv) (xv)

° Watch Video Solution

51. Find the minimum distance of any point on the line

3z + 4y — 10 = 0 from the origin using polar coordinates.

o Watch Video Solution

52. Let if then one of the possible value of is:

o Watch Video Solution

53. Express the polar equation r = 2 cos 8 in rectangular coordinates.



https://dl.doubtnut.com/l/_vUe0lqq8aSp5
https://dl.doubtnut.com/l/_QdGVU4eV7QlB
https://dl.doubtnut.com/l/_2Wfyd0cmxT9f
https://dl.doubtnut.com/l/_GDtW1Lrcdicy

I ° Watch Video Solution

54. Column I, Column Il Atx = 1, f(z) = {logaz, <12z —2%z>1,
p. is increasing At ¢ = 2, f(z) = {& — 1,2 < 20,z = 2sinz,z > 2,
q. is decreasing At
z =0, f(z) = {2a3+3,a: <05z =0z>+72>0,r has point of
maxima At z = 0, f(z) = {e " <00,z =0 — cosz,z > 0, s. has

point of minima

o Watch Video Solution

55.Convert rsinf = r cos § + 4 into its equivalent Cartesian equation.

o Watch Video Solution

rcos 0

56. Convert r = cos ecfe into its equivalent Cartesian equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_GDtW1Lrcdicy
https://dl.doubtnut.com/l/_1yy9eckix5hr
https://dl.doubtnut.com/l/_TPyFtvbwhRtO
https://dl.doubtnut.com/l/_XsxN80y6i2qD

57.The vertices of a triangle are A(z, z1tan6,), B(zs, zotanby), and
C(z3, zstan ). If the circumcenter of ABC coincides with the origin

and H(a,b) is the orthocentre, show that

a cos 01 + cos 0y + cos 05

3 o sin01 + sin92 + sin03

o Watch Video Solution

58. Convert the following polar coordinates to its equivalent Cartesian

coordinates. (i) (2, m)

o Watch Video Solution

59. Discuss the extremum of f(z) = 40(3z*8z3 — 182> + 60)-

° Watch Video Solution



https://dl.doubtnut.com/l/_XsxN80y6i2qD
https://dl.doubtnut.com/l/_LsSFxOIJujch
https://dl.doubtnut.com/l/_CRrQGOnaodwE
https://dl.doubtnut.com/l/_ay69IvxNkFOt

60. Convert r = 4tanfsecf into its equivalent Cartesian equation.

° Watch Video Solution

61. Given the equation 4z? + 2/3zy + 2y2 = 1 . Through what angle
should the axes be rotated so that the term zy is removed from the

transformed equation.

° Watch Video Solution

62. The equation of a curve referred to a given system of axes is
3z% + 2zy + 3y? = 10. Find its equation if the axes are rotated

through an angle 45° , the origin remaining unchanged.

o Watch Video Solution



https://dl.doubtnut.com/l/_d0MPRs4C9IdV
https://dl.doubtnut.com/l/_NqrCCHnEaUFI
https://dl.doubtnut.com/l/_pQIcwAOooVsq

63. Determine z so that the line passing through (3,4) and (z, 5)

makes an angle of 135° with the positive direction of the x-axis.

° Watch Video Solution

64. What does the equation 222 + 4oy — 5y? + 202 — 22y — 14 =0
become when referred to the rectangular axes through the point
( — 2, — 3),the new axes being inclined at an angle at 45° with the old

axes?

° Watch Video Solution

65. Shift the origin to a suitable point so that the equation
y? + 4y + 8¢ — 2 = 0 will not contain a term in y and the constant

term.

o Watch Video Solution



https://dl.doubtnut.com/l/_O7E3ZcbiiMGs
https://dl.doubtnut.com/l/_T7eZda91EU07
https://dl.doubtnut.com/l/_gjIPax3dLdFS
https://dl.doubtnut.com/l/_FE6H2DwNH5ae

66. At what point should the origin be shifted if the coordinates of a

point (4, 5) become ( — 3,9)?

° Watch Video Solution

67. Find the equation to which the equation
z? + Tey — 2y° + 17z — 26y — 60 = 0 is transformed if the origin is
shifted to the point (2, — 3), the axes remaining parallel to the

original axies.

o Watch Video Solution

68. The equation of curve referred to the new axes, axes retaining their
directions, and origin (4,5) is X?+Y? =36 . Find the equation

referred to the original axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_FE6H2DwNH5ae
https://dl.doubtnut.com/l/_Oiy34fDm81AM
https://dl.doubtnut.com/l/_fKpSmxRE0sY8
https://dl.doubtnut.com/l/_GJE6ra0dCAH2

69. If the point (2, 3), (1,1), and (z, 3z) are collinear, then find the

value of z,using slope method.

o Watch Video Solution

70. Which line is having the greatest inclination with the positive
direction of the x-axis?
(i) Line joining the points (1, 3) and (4, 7)

(i)Linedx —4y+3 =0

o Watch Video Solution

71. Find the orthocentre of AABC with vertices A(1,0), B( — 2, 1),

and C(5, 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_GJE6ra0dCAH2
https://dl.doubtnut.com/l/_srVJX6aqEGMV
https://dl.doubtnut.com/l/_MRCisTZbhUkj

72. The angle between the line joining the points (1, — 2), (3, 2) and

thelinex +2y —7=20is

° Watch Video Solution

73. The line joining the points A(2, 1) and B(3, 2) is perpendicular to

the line (a®)z + (a + 2)y + 2 = 0. Find the values of a.

° Watch Video Solution

74. For what value of k are the points

(k,2 —2k)( — k+1,2k)and( — 4 — k, 6,6 — 2k) are collinear?

° Watch Video Solution

75. Find the area of the quadrilateral ABCD having vertices

A(1,1), B(7, — 3),C(12,2), and D(7, 21).



https://dl.doubtnut.com/l/_QkMTCGX7Qtne
https://dl.doubtnut.com/l/_ztmnN7WKh7LS
https://dl.doubtnut.com/l/_Oz329J72Z2Sf
https://dl.doubtnut.com/l/_2CWAeh6g6u6U

[ ° Watch Video Solution

76. Given that P(3,1), Q(6.5), and R(x, y) are three points such that
the angle PQR is a right angle and the area of RQP is 7,

find the value of 4z — 3y + 5

° Watch Video Solution

77.1f O is the origin and if the coordinates of any two points @, and Q5

are (21, y1) and (x2, Yo), respectively, prove that

0Q1. 0Q2c0s£Q10Q2 = 13 + Y1Ys.

o Watch Video Solution

78. Prove that the area of the triangle whose vertices are

(t,t—2),(t+2,t+2), and (¢t + 3, t) is independent of ¢.

o Watch Video Solution



https://dl.doubtnut.com/l/_2CWAeh6g6u6U
https://dl.doubtnut.com/l/_kxXgLdful36Y
https://dl.doubtnut.com/l/_goX9A7I9l77G
https://dl.doubtnut.com/l/_c5Opx4kleVB3

79. Find the area of a triangle whose \vertices are

A(3,2), B(11, 8) and C(8, 12).

° Watch Video Solution

80.1n ABC Prove that AB? + AC? = 2(AO2 + BOz) , where O is the

middle point of BC

° Watch Video Solution

81. Two points O(0, 0) and A(3, /3) with another point P form an

equilateral triangle. Find the coordinates of P.

o Watch Video Solution



https://dl.doubtnut.com/l/_c5Opx4kleVB3
https://dl.doubtnut.com/l/_DR7ypcKpETvr
https://dl.doubtnut.com/l/_flEwfLpEgRLv
https://dl.doubtnut.com/l/_GB2A7nZuXZOm

82. Find the coordinate of the circumcenter of the triangle whose

vertices are A(5, — 1), B( — 1,5), and C(6,6)". Find its radius also.

° Watch Video Solution

83.Find the orthocentre of ABC with vertices A(1,0), B( —2,1), and

o(5,2)

° Watch Video Solution

84. If (by — by)(bs —b1) + (a2 —a1)(ag —ay) = 0, then prove that

the circumcenter of the triangle having vertices (a1, b1), (a3, bs) and

. as +az baibs
(a’3a b3) IS < 2 ’ 2 )

° Watch Video Solution



https://dl.doubtnut.com/l/_Db4TOurRffZy
https://dl.doubtnut.com/l/_HqtY44TThre8
https://dl.doubtnut.com/l/_NTUYPxIglvN1

85.If line 3z — ay — 1 = 0 is parallel to the line (a + 2)z —y+3 =0

then find the value of a.

° Watch Video Solution

86.If A(2, — 1)andB(6, 5) are two points, then find the ratio in which

the foot of the perpendicular from (4, 1) to AB divides it.

° Watch Video Solution

87. Angle of a line with the positive direction of the x-axis is § . The line is
rotated about some point on it in anticlockwise direction by angle 45°

and its slope becomes 3. Find the angle 6

o Watch Video Solution



https://dl.doubtnut.com/l/_fNFBLSJa4NOr
https://dl.doubtnut.com/l/_xCylkS6jXXQt
https://dl.doubtnut.com/l/_Lrivwrv0KugB

88. Let A(6, 4)andB(2, 12) be two given point. Find the slope of a line

perpendicular to AB.

° Watch Video Solution

89. If the points (a,0),(d,0),(0,c), and (0,d) are concyclic

(a, b, c,d > 0),then prove that ab = cd.

° Watch Video Solution

90. If A( —2,1), B(2,3)andC( — 2, — 4) are three points, find the

angle between BAandBC.

° Watch Video Solution

91. The line joining the points (x, 2z)and(3, 5) makes an obtuse angle

with the positive direction of the x-axis. Then find the values of z.



https://dl.doubtnut.com/l/_i1zTX2d6Py0C
https://dl.doubtnut.com/l/_OtCEmX6AkmCF
https://dl.doubtnut.com/l/_V8mxL6mja6gu
https://dl.doubtnut.com/l/_fEcSxxuU3Xba

I ° Watch Video Solution

92. If the line passing through (4, 3)and(2, k) is parallel to the line

y = 2z + 3, then find the value of k.

° Watch Video Solution

93. Find the area of the pentagon whose vertices are A(1, 1), B(7,21),

C(7,-3) D(12, 2) and E(O, -3).

° Watch Video Solution

94. If A = (3, 4) and B is a variable point on the lines |[x| =6 If AB < 4

then the number of positions of B with integral co-ordinates is :

o Watch Video Solution



https://dl.doubtnut.com/l/_fEcSxxuU3Xba
https://dl.doubtnut.com/l/_qa73db5XqH5b
https://dl.doubtnut.com/l/_eip4QXJk4JuX
https://dl.doubtnut.com/l/_okDQDtn7vY34

95. The three points (-2, 2), (8, -2) and (-4,-3) are the vertices of :

° Watch Video Solution

96. The points ( —a, —b), (a, b), (a2, ab) are (a) vertices of an
equilateral triangle (b) vertices of a right angled triangle (c) vertices of

an isosceles triangle (d) collinear

° Watch Video Solution

97. The distance between the point (acosa,asina) and (

acos B, asinpf) is

° Watch Video Solution

98. Find the length of altitude through A of the triangle ABC, where

A=(-3,0B=(4, —1),C = (5,2)



https://dl.doubtnut.com/l/_xmCywjYVaiLC
https://dl.doubtnut.com/l/_EXslt3hky3fe
https://dl.doubtnut.com/l/_sJe9FDhrTg2P
https://dl.doubtnut.com/l/_BgOAWtw6fN7d

I ° Watch Video Solution

99. A and B are points (3,4) and (5,-2), find the co-ordinate of the point P

such that |[PA|=|PB| and area of APAB = 10.

° Watch Video Solution

100. If the point (0, 0), (2,24/3), and (p, q) are the vertices of an
equilateral triangle, then (p ,q) is

A.(a) (0,-4)

B. (b) (4,4)

C.(c) (4,0)

D. (d) (5,0)

Answer: null

o Watch Video Solution



https://dl.doubtnut.com/l/_BgOAWtw6fN7d
https://dl.doubtnut.com/l/_keVbUVy331i8
https://dl.doubtnut.com/l/_OZ48ab1cZcTk

2n 2n
101. If Z sin ! z; = nx then find the value of Z x;
i=1 i=1

o Watch Video Solution

102. If the vertices of a triangle have rational coordinates, then prove

that the triangle cannot be equilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_OZ48ab1cZcTk
https://dl.doubtnut.com/l/_FW2ONoT2w2SR
https://dl.doubtnut.com/l/_sOH4yOOUYCWU

